-

B A + STROKE F
C D
2-PORTS K BSP
E
CLEAR
JRAD |
Il Il Il Il [
bl bl I
G ;l‘{ — — — LDIA — <> — H})IA
I
BORE|ROD| A [ B | Cc|D|E|F G H|J | K|L
14 14 M12 X 1,25P 3
25— 178 [ 8 | 51| 20 |12 SRR 12 | 1s |14 | 4o
18 18 M14 X 1,5P 3
32 [y 206 [y 64 | 64 | 25 | 16 (UrSiE— 16 [ 20 (37| 42
2 24 MI18 X 1,5P "
0 3 B 80 | [ 30| 20 [y 20 | 28 12| s0
28 30 M22 X 1,5P )
50 o257 (50 83 | 84 |40 |25 | PEAXLSE o5 |5 120 6o
63 32 289 Zg 9 | 103 ] 50 | 32 xgig 32 |35 |34 | 73
- - e MAXIMUM WORKING PRESSURE : 210 BAR.
80 332 118 | 127 ] 60 | 40 40 | 45 [347] 90
56 55 M42 X 2P SIONS
56 55 M42 X 2P " DIMENSIONS CONFORM TO CETOP RP 58H
100 0395 54128 | 154 | 80 | 50 I EIEE 50 |55 | 10 |1
70 70 M52 X 2P .
125 (0428 10150 | 165 | 85 | 63 B2 XEE 63 | 65 | 1" | 145
90 90 M68 X 3P o
160 (e 505 [ 175 | 205 | 121 | 80 [—NMSEIE_J g0 | gn |1 180
110 100 MS0 X 3P o
200 0 615 1190 | 255 | 150 | 100 (= ERZSE— 100 | 110 | 124" | 230
140 112 M100 X 3P -
250 (=30 773 (12 235 | 323 | 200 | 125 A IIIE 125 | 150 | 124" | 280

/

MSH S31d3S H3MOd din-d sH

%

REAR CLEVIS EYE MOUNTING

TYPE 1

\
BLE U
== ~= FLUID POWER/




o

B A +STROKE .
C
2-PORTS K BSP E
CLEAR

I I I I T

Il Il D

J{ TN

(I; ﬁ‘[ N — -t WIA

T
BORE(ROD | A [ B | C|D|E|F G Bl | k|L|m™

M
25 (] 178 (e 8 | 51|20 |10 REEAEE 12 |15 14| 4o | 12
32 ;g 206 ;3 64 |64 | 25 | 14 xigiig 16 |20 38" 42 | 16
0 2231 (280 |74 | 30 | 18 a2 xTap ] 20 | 25 12| S0 | 20
50 (057 30 83 | 84 40 |22 [(REXLSE o5 |3 line| 60 | 25
63 (3o 289 521 96 | 103 | 50 | 28 (—MEIXZE 35 |35 (3| 73 | 32

%0 45 |4 145 1 1is Liar L 6o | 35 M33 X 2P 0 | a5 |34 | 90 | 40 MAXIMUM WORKING PRESSURE : 210 BAR.
56 55 M42 X 2P
100 —S0—395 54128 | 154 80 | 40 —EIEE 50 (55 | 10 15| s DIMENSIONS CONFORM TO CETOP RP 58H

125 (T 428 0150 | 165 | 85 | 50 FSXIE 63 |65 | 10 [ 145 | 63
160 (e 505 [0 175 | 205 | 121 | 65 [—NISXIE g0 | 90 |14m| 180 | 80
200 (0 615 S0 190 | 255 | 150 | 90 (—YSUXIE_ 109 | 110 | 1247 | 230 | 100
250 (8 773 020 235 | 323 | 200 | 115 (MRS 125 | 150 | 147 | 280 | 125

/

MSH S31d3S 4H3MOd din-d sH

%

REAR SPHERICAL CLEVIS EYE MOUNTING : TYPE 1S

\
BLE U
== ~= FLUID POWER/




o

J DIA \ m

A+ STROKE B
D C M PCD
2-PORTS K BSP E
b bl | s
”; ! 0.05 L
— _ LDIA — 4 G p p1a™0-10 r-
\ﬁ L
| | O
- 8-HOLES N DIA é
¥ m
BORE|ROD| A | B| Cc|D|E|F G als | k|| M| N]|P
14 16 MI2 X 1,25P »
25 [ 148 [a{ 58 | 23 | 16 | 15 SR 3 [ os (w440 | 75 | 7 | 32 g
18 18 M14 X 1,5P )
32 [y 110 54| 64 | 28 | 16 | 15 [{res i 3 [ 125 37| 42 (92 | 9 | 40 |-T-|
2 24 M8 X 1,5P 3
40 e 191 g 80 | 33 | 16 | 20 USSR 3 [ 130127 50 106 | 9 | 50
28 30 M22 X 1,5P » »
50 352073083 | 32 |18 20 AP g | aso 12| 60 [126| 11 | 60 -
63 35 1224130 L o6 38 |20 | 25 FM2TX2P |\ | yg 34| 73 145 | 14 | 70
45 45 M33 X 2P MAXIMUM WORKING PRESSURE : 210 BAR. (D
80 22 267 g: nus|4s |22 | 32 ngig 4 | 200|347 90 |165] 18 | 85 é
= = M1 X 2P DIMENSIONS CONFORM TO CETOP RP 58H
”
100 (50300 (34128 | 59 | 25 | 32 (NEIE 5 250 | 10 115|200 | 22 | 106
70 70 M52 X 2P 3
125 (333 (0 150 62 | 28 | 32 i3 5 280 | 10 | 145|235 | 22 | 132
90 90 M68 X 3P -
160 (370 (204175 | 70 | 30 | 40 (—OSXIL_{ 5 |30 || 180 | 280 | 22 | 160
110 100 V80 X 3P -
200 (0450 S0 190 [ 90 | 35 | 85 (—TIEIE s g0 120|230 | 340 | 35 | 200
140 112 M100 X 3P -
250 (=3 550 =220 235 | 100 | 40 | 110 (IREIE 5 500 [ 147|280 | 420 | 40 | 250

/

FRONT CIRCULAR FLANGE MOUNTING :

JC

TYPE 2 5= 55 FLUID POWER




o

J DIA
M PCD

-0.05
-0.10

P DIA

A + STROKE B
D C
2-PORTS K BSP E
H —
N I I I [
— LDIA —— _ y\% e
I N
BORE|ROD| A |B|C|D|E | F G H|{J|K|L|M|N|P
14 16 MI12 X 1,25P R
25 g 162 (g 58 |35 | 16 | 15 sty 3 | 95 [van| 40 |75 | 7 | ;2
18 18 M14 X 1,5P R
32 5,186 5, 64 | 44 | 16 | 15 sty — 3 (125 (387 42 [ 92 | 9 |40
22 24 MI8 X 1,5P R
40 35206 55 80 | 49 | 16 | 20 gy 3 | 130[127| 50 106 | 9 | 50
28 30 M22 X 1,5P R
S0 e 122551 83 |52 |18 | 20 T 4 150 [12"| 60 |126 | 11 | 60
36 36 M27 X 2P N
63 {249 g 96 | 63 |20 | 25 T 4 180 [3/4"| 73 [145| 14 | 70
45 45 M33 X 2P R
80 {282 o 18| 77 | 22 | 32 ey 4 |200(3/4" 90 [165| 18 | 85
56 55 M42 X 2P R
100 [0 —332 25128 | 91 | 25 | 32— eSS 5 |250| 1" | 115|200 | 22 | 106
70 70 M52 X 2P R
125 |5 — 357 [ 150 | 94 | 28 | 32 — =t on 5 | 280 1" | 145|235 | 22 | 132
90 90 M68 X 3P o
160 7071406 g1 175 [ 106 | 30 | 40 —ros 5 | 330 |1%"| 180 | 280 | 22 | 160
110 100 M80 X 3P o
200 0490 {190 | 130 | 35 | 85 | St— 5[ 440 (147 230 | 340 | 35 | 200
140 112 M100 X 3P o
250 o0 606 Hpa{ 235 | 156 | 40 | 110 el e 5[ 500 147 280 | 420 | 40 | 250

8-HOLES N DIA

MAXIMUM WORKING PRESSURE : 210 BAR.

MSH S31d3S 43MOd din-4d sH

DIMENSIONS CONFORM TO CETOP RP 58H

/

FRONT CIRCULAR FLANGE MOUNTING :

JC

TYPE 3

= 5 FLUID POWER




o

A+ STROKE
D + STROKE C
E
2-PORTS K BSP
Il Il
] I I I I
i — _LDIA — E
| |
L T
| } | | } |
BORE| ROD | A B C D E F G H J K L M N P
14 16 M12 X 1,25P .
25 18 148 18 58 69 13 10 M14 X 1,5P 15| 30 |1/4 40 (100 7 80
18 18 M14 X 1,5P .
32 0 170 24 64 | 78 | 13 | 12 MI8 X 1.5P 19 [ 35 |13/8"| 42 |[115]| 9 95
22 24 MI8 X 1,5P .
40 28 191 30 80 | 77 | 13 | 15 M22 X 1.5P 25| 45 |12 50 | 150 [ 11 | 120
28 30 M22 X 1,5P .
50 36 207 36 83 90 14 20 M27 X 2P 25| 50 (12 60 | 160 [ 11 | 130
36 36 M27 X 2P .
63 45 224 45 96 | 90 | 16 | 25 N33 X 2P 251 60 (3/4") 73 |190 | 14 | 160
45 45 M33 X 2P .
80 36 267 35 118 | 87 | 18 | 25 M42 X 2P 32| 70 (3/4"] 90 (230 18 | 190
56 55 M42 X 2P .
100 7 300 70 128 [ 113 ] 20 | 30 M52 X 2P 32| 80 | 1 115250 22 | 210
70 70 M52 X 2P .
125 2 333 % 150 [ 113 | 23 | 35 M68 X 3P 50 | 110 1 145 320 | 22 | 260
90 90 Mé68 X 3P U
160 110 370 100 175 (125 25 | 40 M80 X 3P 70 | 120 [ 1%" | 180 | 390 | 26 | 315
110 100 MS80 X 3P o
200 140 450 12 190 [ 170 30 | 70 M100 X 3P 75 | 150 | 1%" | 230 | 440 | 35 | 340
140 112 M100 X 3P L
250 180 550 125 2351215 35 | 80 M125 X 4P 80 | 180 | 1'% | 280 | 500 | 40 | 400

4-HOLES N DIA

MAXIMUM WORKING PRESSURE : 210 BAR.

DIMENSIONS CONFORM TO CETOP RP 58H

/

MSH S31d3S 43MOd din-4d sH

%

FOOT MOUNTING :

TYPE 4

] [M S h
== ~= FLUID POWER/




-0.05
G pDIA010

A + STROKE
D C
2-PORTS K BSP B
H;» L
] BN | @ T
L DIA K X - ]'E -
U/ Jﬁ
|
‘ CUSTOMER SPECIFICATION
BORE|ROD | A [ B | C|D|E|F G ala lkloImln]e
25 [ 150 [a{ 58 | 21 [ 16 | 63 SR 3 | 10 {1an| 40 | 12 | s0 | 32
2 170 i 64 | 28 | 16 | 75 mg;::g 3|12 (38|42 |16 | 60 | 40
w0 2190280 |33 | 16 | 90 xgi:;}: 3|16 (1227 50 | 20 | 70| 50
50 28205 (3083 | 32 | 18 | 105 FMEEXLSE Ly a0 (120 60 | 25 | 80 [ 60
63 oo 24 S5 96 |38 | 20 [ 120 (ETREE 4 | 25 (30| 73 | 32| 95| 70
80 [ 267 e 118 | 45 | 22 | 135 SR 2L 4 | 32 34v| 90 | 40 | 120 85
100 (53300 (34128 | 59 | 25 | 160 NEIEE 5 a0 |10 (15| 50 | 150 106
125 (0333 (0 150 | 62 | 28 | 195 XX 5 | 50 | 17 [ 145 | 63 | 185|132
160 (370 (04175 | 70 | 30 | 240 (—OSEI_ 5 |63 |1 (180 | 80 | 220 160
200 (0450 S0 190 [ 90 | 35 | 205 (=IXIE {5 g0 10| 230 | 100 | 30| 200
250 (3550 220235 | 100 | 40 | 370 (AIRESE 5 100 140 | 280 | 125 | 350 250

-

-0.05
M D1 0-10

-

MAXIMUM WORKING PRESSURE : 210 BAR.

DIMENSIONS CONFORM TO CETOP RP 58H

/

MSH S31d3S 43MOd din-4d sH

%

Y4

TRUNNION MOUNTING

TYPE 5

] [M S )
== ~= FLUID POWER/




o

A+ STROKE B J
D C
2-PORTS K BSP E
M PCD
I P
”; f 0.05
_ __ LDIA __ . ”f G p DIA-0-10 | R
/ ‘ \
EoRNG]
4-HOLES N DIA /
H I
N L A
45°

BORE|ROD| A | B|C|D|E | F G J|lk|L|mM|N|P|R

14 16 M12 X 1,25P .
25— 148 e S8 | 23 | 16 |15 (O 50 14" 40 |75 | 7 |32 | 90

18 18 M14 X 1,5P .
32 [y 10 o] 64 | 28 [ 16 | 15 STy 60 |38"| 42 [ 92 | 9 |40 | 110

22 24 MI18 X 1,5P .,
O 510 5] 80 | 3| 16 | 20 s 70 12| 50 |106| 9 |50 | 120

28 30 M22 X 1,5P .
S0 e 207 el 83 |32 [ 18 | 20 e 90 |1/2"] 60 |126 | 11 | 60 | 140

36 36 M27 X 2P
63 224 9 | 38 |20 | 25 110 [3/4"| 73 {145 | 14 | 70 | 170

45 45 M33 X 2P MAXIMUM WORKING PRESSURE : 210 BAR.
80 22 267 gg nus|4s |22 | 32 ngig 120 |3/47| 90 | 165| 18 | 85 | 200

= = NM4ZX 2P DIMENSIONS CONFORM TO CETOP RP 58H

"

100 01300 =0 128 59 | 25 | 32— s 150 | 17 [ 115|200 22 | 106 | 240

70 70 M52 X 2P p
125 5333 |5 150 | 62 | 28 | 32— s 180 | 17 | 145|235| 22 | 132 280

90 90 M68 X 3P o
160 7071370 (oo 175 | 70 | 30 | 40— 1es3p 220 [1%"| 180 | 280 | 22 | 160 | 370

110 100 MS80 X 3P o
200 01450 o 190 90 | 35 | 85 [ ronesT 260 | 1% | 230 | 340 | 35 | 200 | 400

140 112 M100 X 3P o
250 g0 550 o5 235 | 100 | 40 | 110 (P 310 | 14" | 280 | 420 | 40 | 250 | 500

/

MSH S31d3S 43MOd din-4d sH

FRONT RECTANGULAR FLANGE MOUNTING :

TYPE 6

JC

= 5 FLUID POWER




o

A+ STROKE B J
C
2-PORTS K BSP E
H—» -
{7 M PCD
i i
]’E -0.05
_ LDIA — _ p 1A 10 _ R
/ ‘ \
ERNG)
4-HOLES N DIA / \
ol L A
BORE/|ROD| A | B| C|D|E | F G JIK|L|M|[N|P|R 45°
14 16 M12 X 1,25P N
25— 162 g 5B | 35 | 16 | 15 ey 50 |1/4"| 40 |75 | 7 |32 | 90
18 18 M14 X 1,5P .,
32 [y 186 5 64 | 44 | 16 | 15 Sy 60 |3/8"| 42 |92 | 9 |40 | 110
22 24 M18 X 1,5P .,
40 55206 57 80 | 49 |16 | 20 —EASET 70 |12"| 50 [106 | 9 | 50 | 120
28 30 M22 X 1,5P N
S0 3 2255 83 |52 | 18 |20 = pop 90 [1/2"] 60 | 126 | 11 | 60 | 140
36 36 M27 X 2P
63 249 9 | 63 | 20 | 25 110 [3/4"| 73 |145| 14 | 70 | 170
45 45 M33 X 2P MAXIMUM WORKING PRESSURE : 210 BAR.
80 ‘5‘2 282 gg us| 77 |22 | 3 mgiig 120 |3/47| 90 | 165 | 18 | 85 | 200
= = M42 X 2P DIMENSIONS CONFORM TO CETOP RP 58H
"
100 0332 25 128 91 |25 | 32— 150 | 1" | 115|200 | 22 | 106 | 240
70 70 M52 X 2P ;
125 [0 357 g 150 | 94 | 28 | 32 |—UREAT 180 | 1" | 145|235 22 | 132 | 280
90 90 M68 X 3P o
160 (101406 o 175 106 | 30 | 40— e ST 220 | 1%"| 180 | 280 | 22 | 160 | 370
110 100 MS80 X 3P o
200 o1 490 51 190 (130 35 | 65— rrE ST 260 | 1% | 230 | 340 | 35 | 200 | 400
140 112 M100 X 3P o
250 |— oo 606 5= 235 | 156 | 40 | 85 f—yresr 310 | 1%" | 280 | 420 | 40 | 250 | 500

/

MSH S31d3S 43MOd din-4d sH

REAR RECTANGULAR FLANGE MOUNTING

: TYPE 7

= 5 FLUID POWER

JC




o

:

H7
D6( )

W

L8
BORE|ROD D2 D6 | L1 | L2 | L3 | L4 | LS| L6 | L7 | L8 | PART No.
25 14 M12X1.25P | 12 | 54 | 38 | 17 | 14 | 12 | 10.5 32 | 16 | SRCN 14
18 M14 X 1.5P 16 | 64 | 44 | 19 | 18 | 16 | 13 | 40 | 21 | SRCN 18
i 22 M16 X 1.5P 20 | 77 | 52 | 23 | 22 | 20 | 17 | 47 | 25 | SRCN22
v 28 M20 X 1.5P 25 [ 96 | 65 [ 29 | 27 [ 25 | 21 | 58 | 30 | SRCN 28
> 36 M27 X 2P 32 | 118( 80 | 37 | 32 | 32 | 27 | 70 | 38 | SRCN 36
o 45 M33 X 2P 40 |145.5( 97 | 46 | 41 | 40 | 32 | 89 | 47 | SRCN45
v 56 M42 X 2P 50 | 179 (120 | 57 | S0 | 50 | 40 | 108 | 58 | SRCN 56
0 70 M48 X 2P 63 | 211|140 | 64 | 62 | 63 | 52 [ 132 | 70 | SRCN 70
o 90 Meo64 X 3P 80 | 270 (180 | 8 | 78 | 80 | 66 | 168 | 90 | SRCN 90
0 110 M80 X 3P 100 | 322|210 | 96 | 98 | 100 | 84 | 210 | 110 | SRCN 110
20 140 M100 X 3P 125 | 405| 260 | 113 | 120 | 125 | 102 | 262 | 135 | SRCN 140
250 180 | MI25X 4P 160 | 488 | 310 | 126 | 150 | 160 | 130 | 326 | 165 | SRCN 180

L7

MSH S31d3S 43MOd din-4d sH

I\

CETOP SPHERICAL ROD CLEVIS

\
BLE U
== ~= FLUID POWER/




B
\
T
77777 \
***** ]
G THREAD - H T
I
I ——
|
BORE Alslclolelr G PART No.
2 50 (20 [175( 12 | 20 | 12 (—RUZXLISE | DRC IS
2 54 |25 |21 |16 |25 16 Rﬁ‘;i}:?? ﬂﬁgﬁgﬁ
40 75 | 30 | 25 | 20 | 30 | 20 —ADSXLSE 1 ERCWA
50 95 | 40 | 32 | 25 |35 | 25 —DIZZXLSP | DRC WIS
6 e ns| s[5 3 | 2
80 140 | 60 | 45 | 40 | 60 | 40 Miiii}i ggg gggz
100 175( 80 | 55 | 50 | 70 | 50 |—MZXZP TR e
125 200 85 | 78 | 63 | 80 | 63 —D2R2E TRC LT
160 270 | 121] 92 | 80 | 100| 80 [—VISSXIP | BRCIGOPD.
200 300 | 160 | 110 | 100 | 130 | 100 (PR3 TRE VD
250 350 | 200 | 130 | 125 | 150 | 125 11:4432 ii}: TRC 2

CRAD

D DIA (H8)

/

MSH S31d3S 43MOd din-4d sH

%

PLAIN ROD CLEVIS

\
BLE U
== ~= FLUID POWER/




o

CL

j|» CKHY

C CKHY9 | CE|CL| CHF F L1 | RE PART No.
16 12 36 | 32 21 MI2X1.25P | 19 | 17 22048 D
20 14 38 | 40 21 MI14X1.5P | 19 | 17 22049 D
30 20 54 | 60 32 MISX1.5P | 32 | 29 22050 D
30 20 60 | 60 32 M22X15P | 32 | 29 22051D
40 28 75 | 80 40 M27 X 2P 39 | 34 22052 D
50 36 99 | 100 56 M33 X 2P 54 | 50 22053 D
60 45 113 | 120 56 M42 X 2P 57 | 53 22054 D
70 56 126 | 140 75 M52 X 2P 63 | 59 22055 D
80 70 168 | 160 95 M68 X 3P 83 | 78 22056 D
80 70 168 | 160 95 MS80 X 3P 83 | 78 22057 D

RRE

S

E3

CHF

(MATERIAL SPECIFICATION. : FORGED STEEL C4 1ISO 8133)

7/

MSH S31d3S 4H3MOd din-d sH

N

THREADED FORK ROD END (C/W PIN)

™
== ~= FLUID POWER/




B RAD
] | | |
G ] ]
r | || | | | ]
H
4-HOLES A DIA I
BORE| A B C D E F G H I J K PART No.

25 7 15 | 12 | 12 | 12 | 35 | 12 | 65| 90 | 65 | 90 FCB 25

32 9 22 | 16 | 16 | 15 | 45 | 16 | 90 | 120 | 90 | 120 FCB 32

40 9 25 | 20 | 20 | 15 | 50 | 20 | 100 | 135 | 100 | 135 FCB 40

50 11 | 30 | 25 | 25 | 20 | 65 | 25 | 125 | 145 [ 125 | 145 FCB 50

63 13 | 40 | 32 | 32 | 25 | 80 | 30 | 145 | 165 | 145 | 165 FCB 63

80 18 | S0 | 40 | 40 | 30 | 95 | 35 | 180 | 230 | 180 | 230 FCB 80

100 | 22| 60 | 50 | 50 | 35 [ 110 | 40 | 205 | 255 | 205 | 255 FCB 100

125 | 26 | 75 | 63 | 63 | 40 | 130 | 45 | 230 | 280 | 230 | 280 FCB 125

160 | 32| 90 | 80 | 80 | 45 [ 150 | 50 | 250 | 320 | 250 | 320 FCB 160

200 | 38 | 110 [ 100 | 100 [ 50 | 180 | 50 | 275 | 320 | 275 | 320 FCB 200

250 | 41 | 130 | 125 | 125 | 50 | 200 | 50 | 300 | 375 | 300 | 375 FCB 250

MSH S31d3S 4H3MOd din-d sH

/

_/

Y4

FEMALE CLEVIS BRACKET AND PIN

] (m == FLUID POWER/

/




o

PISTON ROD SEAL

WIPER SEAL PISTON ROD ASSEMBLY

GLAND BUSH

PISTON SEAL

VARYING SELECTED
MOUNTING ARRANGEMENTS

o

R =

'O' RINGS SEALS STOP TUBE

SEAL KIT REFERENCE : - SK CWS (BORE SIZE) / (PISTON ROD SIZE)
EG.:-SKCWS 40/28

END CAP SUPPLIED

WITH TUBE

/

MSH S31d3S 4H3MOd din-d sH

\_/

SPARE PARTS

== ~= FLUID POWER

\




